2 (AN183]- A A 32 =

209 A1 325 - SRS F7PoRH)

L= H al

o

%53 3 3}
L1 o) 3kt =

< A3 A >
o Al < (9 91:3 9)
TR 13] F+7 3% o) 2k > H] -2 (%)
Al 863,482 619,482 244,000 | 39.39
Al 2+ <) 619,482 619,482 0 -
nx & 244,000 0 244,000 -
o Al = (291: 2 9)
7 ¥ 13 %7 FE s % H) & (%)
Al 2,814,895 2,570,929 243,966 9.49
W EsAzIs}
21 366,981 123,015 243,966 198.32
FA A
A9 7AN| 162,503 162,503 0 -
AFds 2,285,411 2,285,411 0 -
LKEQEIA>  AY - A= (94 9)
TR 13] 73 I E = % 1] & (%)
x= =3 & 11,391,928 10,810,642 581,286 5.38

o a'FAA 20099 A3 Y9 - SAIAMYAE F7HEA 4k
o YGWI|A MGt "4k tiH] 39.39%<1 244,000 o] FHH
863,482 ¢ o] ™
« AlEdihe G4 Bt 949%<] 243,966 Qo] F A H
2,814,895 Qo= A oﬂ/«}\_ﬂ




(11183 -1 9| A3 H-2) 3
» FAEEEIAE Fx4F B} 538% 9 581,286F A o] FAH
11,391,928 Qo2 A 544 AYda AlE AL 25
O 52 A4
(a3 A
o Al Y- A=
o oHo|HT 7 A (S, A]B]) 244,000 9
A3
o Al ¢
o 2ihxY FYTFAZERAPRHY, SHIURT) —— 600,000 )
o Al &
o YAHAFE(FIHNTITAE +9) 19,5234 ¢
o FPFAE B FAFAAZH X A70,0004 Y
e FTFFAE A7IA FA7] Y A12,0008 Y
o WS FYFAE 24 1,400,000 ¢
o AN FIYTFAE (PN 600,000 ¢
o ofH]NH £3,094,248 A
o YA FZAFATAFAA T+ A=) e 102,400 ¢
o AR TR 2AEARE, vE2E, HAHE) 1,600,000

[ A&l
AP 248%,
e A Aol 27w

O

o FAASHIA AWM 316%, AEH] T FTAFA
28 A3 /x]—‘ﬁlﬂ]’ 70,0004 YL ‘093 F At
T A 2HAg Aol ik Aol -

olgolnE e ALY o AR 24400033909 AFel

g B AN
Fustgetst oy




